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There are 6 cars in the car park. Each car has 5 people in. How many people are there altogether?
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There are 8 cats in the tree. Each cat has 2 ears.
How many ears are there altogether?
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There are 7 pigs in the mud. Each pig has 5 toys.
[image: pig-clip-art-pig_clip_art[1]]How many toys are there altogether?
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A Queen owns 10 gold coins. How many gold coins would 6 Queens own?
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[image: http://t0.gstatic.com/images?q=tbn:ANd9GcQoF75p5w2EPXug6rXKRB_m4qG_VbxOANZ4T5zscmDQ4iv7F5lipA]A Knight wears 9 pieces of armour. How many pieces of armour would there be altogether if there were 2 Knights?
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There are 6 cars in the car park. Each car has 5
people in. How many people are there altogether?
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